Word Problems ***
I can use rounding to help me to decide whether to add or subtract.
I can underline the key vocabulary.
I CAN BREAK THE PROBLEM DOWN INTO SMALLER STEPS.

Section A – 1 STEP PROBLEMS
1. A zoo has 5,339 visitors on Monday. On Tuesday it has 1,448 fewer. How many visitors does it get on Tuesday.



CHALLENGE – 2 STEP PROBLEMS (2 calculations to do)
1. A sweet factory produces 1767 lollipops on Saturday. On Sunday they make 329 fewer. How many lollies are produced altogether?






2. There were 2,114 visitors to a museum on Saturday.
656 FEWER people visited the museum on Saturday than on Sunday.
How many people visited the museum altogether?




3. A supermarket has 1284 loaves of bread at the start of the day. During the day, 857 loaves are sold and a further 589 loaves are delivered. How many loaves of bread are there at the end of the day? 
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